
9

10

226-741-0060 info@zebozap.com zebozap.com

200x200/300x200/400x200
300x300/400x300/400x400ZZTVA2044

Outdoor Post TV Mount

Note: If the display does not 
stop at your desired position, 
tighten the screws as shown.

E



3

4

5

6

B

D

Feed both ratchet straps through the slots

INSTALL THE TV MOUNT

7

8

Side view

A (x1) B (x1) C (x2) D (x2) E (x1)
4mm

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

D8 (x4)
M-G

M-H (x8) M-I (x8)

M8x50 (x4)
M-E

D6 (x4)
M-F

C
M-A
M-B

M-F

M-C
M-D

M-G

M-E

M-G

M-H

M-I

M-H

M-I

UNLOCK

LOCK

REMOVE THE TV MOUNT

Lock the safety lock for 
later installation.

Top view

Click


